11. frame detector sensor if detect Buzzer Passive
and RGB turn on show in OLED
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from machine import Pin
from machine import I2C
import ssdl1306

from time import sleep
from machine import PWM
import time

pIn3=Pin (3, Pin.IN, Pin.PULL UP)

def gpio_set (pin,value):
if value >= 1:
Pin (pin, Pin.OUT) .on ()
else:
Pin(pin, Pin.OUT) .off ()

while True:
12¢c=I2C (0, scl=Pin(l), sda=Pin(4))
oled width = 128
oled height = 64
oled = ssd1306.5SSD1306 I2C(oled width, oled height, 1i2c)
oled.text ((''.join([str(x) for x in ['frame',K ' : ',
pIn3.value()1])), 40, 47)
oled.show ()
if (pIn3.value()) ==
pwml5 = PWM(Pin (16)
pwml5.freg(1000)

O:
) #buzzer



pwml5.duty ul6(1000)
gpio set ((10), True) #RGB
gpio set ((15), False) #RGB
time.sleep (1)

else:
pwml5 = PWM(Pin(16)) #buzzer
pwml5.fregq(1000)
pwml5.duty ulo6 (0)
gpio set((15), False) #RGB
gpio _set ((10), True) #RGB

oled.fill (0)

time.sleep (1)

a5uElAn
TAnfananaufiunseuandves LED RGB ifiuidsl
1. dudluga Pin, 12C, ssd1306, sleep, PWM uag time.
2. e GPIO 3 Wurnidwuy Pull-up Faduildnmaduaniusveansy:
e plIn3 = Pin(3, Pin.IN, Pin.PULL_UP)
3. fmuaileidu gpio_set() iilomuauaniuzves GPIO Tidugmies:
« def gpio_set(pin, value):: Usznaflanidu gpio_set() Sun1s1iimas pin Loy value.
o if value >= 1:: n973@0UAT value 111NN BLINAU 1 sl
e Pin(pin, Pin.OUT).on(): vuaw1 GPIO Titluge.
e else: n3elA1 value Uownan 1.
«  Pin(pin, Pin.OUT).off(): fuunan GPIO Tdusn.
4. Gudunsvihalugy while True:.
5. a$eBeudng 12C dmsunsideuseduntiiae OLED:
e i2c =12C(0, scl=Pin(1), sda=Pin(4))
6. MUUATUINVDINTNRD OLED:
e oled width = 128
e oled_height = 64
7. @59euldng SSD1306_12C dmsunisauauntiae OLED:
e oled = ssd1306.5SD1306_I12C(oled_width, oled_height, i2c)

8. WANINAEIUTYBLWTUUUNTNYE OLED:



e oled.text((".join([str(x) for x in ['frame’, ' : ', pIn3.value(11)), 40, 47): &313
FomnuinansanuzveunsulngldA1aInn1se1uen GPIO 3 wasuaniwafifiie (40, 47)
VU0 OLED.
9. wanmtinve OLED fififennuuazanuzoansy;
o oled.show()
10. ASIVEOUAN UL VDLW
e if (pin3.value()) == 0:: AsIARUIIATIEILANYT GPIO 3 18U 0 Wil
« pwm15 = PWM(PIn(15)): @351s8outing PWM dmiuaiunue GPIO 15
(Buzzer).
«  pwm15.freq(1000): daraudlidu 1000 Hz.
« pwm15.duty u16(1000): s Duty Cycle tJu 1000,
o gpio_set((13), True): \Un LED RGB lnerimunav1 GPIO 13 1Jugs @unv).
. gpio_set((14), False): Un LED RGB tnsrmuawn GPIO 14 1dush @iden).
o time.sleep(1): %1291281 1 U9l
. else: nsdlAnfiewaine GPIO 3 Tl 0.
« pwm15 = PWM(PIn(15)): a519douiing PWM dwsuaiuruan GPIO 15 (Buzzer).
«  pwm15.freq(1000): daraudlidu 1000 Hz.
e pwmi5.duty u16(0): Faein Duty Cycle 1Uu 0.
« gpio_set((13), False): Un LED RGB lasifinnunv1 GPIO 13 Jush Gunv).
o gpio_set((14), True): \Un LED RGB laerimiunav1 GPIO 14 1Jugs @7en).
11. W3sunti19e OLED dwsukanitayannly:
o oled fill(0): widtamthae OLED Tnednsdsmaninge.
12. wiaan 1 il

o time.sleep(1)



